£

mmmif\( ! Nm+uﬂbv = ( urs ‘ch 502) s 1F[RA 1o o J0AY

g v
¢ % = AQ_V s vaOO &~
A+ > 10lF0 ‘O=cusg +zsooy
7Z>5d ‘Ld + puRPIR = & D = I UB}
cLgd +pusore —u | - P
zZ>d xzd + » uisore = = HV?@_ ARESHELS
Z2>d ‘ugd+0vsoo0rF=I < 1[5 |p| ‘D=zsoo
JoduruSpunas ySLOWOUoSLIT,
T3020IR Zruejdie &I S020.I8 & UIsdIe
B T +ou— Lo —
Z- £- % £-
€ z 1 I="g 8. g€ T I T— z— g— T - 1 e

E
3
E

RSC z z
TF g — .khm T=E

Co:o._E::._ SLIIUIOUOSLI} ISIIAUL) JAWOTIUNJ JIB[OYAIL)

0 co 0 1 2

_ v v zL

v s il T | T g

£ 4 2 €

[T L7 T Bx x

1 1 2 i ¥

o % n

£ 3 4 2

gr = o ¢ 9

— v v ZL

g LA TFTor A= m

o 0 L 0 0
100 uey 509 uis uBpey

JIP[UIA 9)3[RADPN J0] JIIPIRA N BSYH

z2d

Z>d

Z>d

z>d

t

z>4d

Z>d

Z3d ‘ud£x
‘wd+ & L g
t>lzl>0

‘ud + & L g

‘wd+ & £z

ugd > x> ugd + w—
rzd +u > xS ugd

3

wgd+ & Sz>ugd+ 2

ugd+§ S xS ugd+ &

R+ A

TUSE —[=T1—%,8007=2

7Z>d ‘wd+iLAixz

73d ‘Cditx

¢
, TS
= X 982
I
, £S0D
= I 99S
L
. x
1> g > T80
z uel —
) D dub S
(£)ueng
(%) juea+1
= BT
(%) ueag
L) queq +
TNLN L 2soo
(2) gues— 1
Tz ws 7, 900
P ..k
TZ800 — | Tz uis
10] — . zZ
——— V¥ = zus
Io] + Lg B~ |
105 — . z
— N =1xs00
10§ + TEsoo +1
x uey — |
& g _
TUB} = Tguey

TBOD T WS T — TE IR

Uls — I,800 = IF 802

4 [4

Auejxzue) + 1
{ PR S
Auey Fxue) gwﬂ&vﬁﬁu

fiuis 500 F fisoo zwis = (A  x)uis
fiuts x uts & fis00 £ 500 = (A F x)s00
‘1 = T909 T UB}

1 = Z,us + ,500

JI[ULIOY 3YSLIJIWOUWOSLL,
LIPWOUOSLI],



